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GENERAL AWARENESS

1. Union Minister of Corporate affairs
Veerappa Moily recently launched
a new share index for sustainable
stocks,which include stocks of 20
companies of BSE ,which meet the
energy efficiency norms,allowiiing
investors to derive benefit from
related costsavings.This new index

Is known as
1) Envex 2) Climex
3) Greenex 4) Green Sensex

5) Energy sensex

2. 'Myunforgettable memories’isthe
autobiography of

1) Manmohan Singh

2) Mayawati

3) J.Jayalalita

4) Mamta Banarjee

5) None of them

3. Duleep trophy is associated with

1)Football 2) Cricket
3) Hockey
4) Shooting 5)None of these

4. IfyouaregoingtoSouth Africa, you
have to use which of the following
currencies?

1) South African Rupee
2) Naira 3)Rand
4) Shiilling 5)None of these

3. Yingluck Shinawatra was be the
Chief Guest on the Republic Day on
January 26, 2012. Yingluck
Shinawatra is the President of
which among the following
countries ?

(1) Indonesia

(3) Thailand

(5) None of these

6. Who among the following is the
Chief Minister of Uttar Pradesh?

1) Mulayam Singh yadav

2) Akhilesh yadav

(2) Malaysia
(4) Philippines
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3) Mayawati

4) Nitish Kumar

5)None of them

7. Mansur Ali Khan Pattaudiwho
passed away recently was a/an

1) Actor

3) Politician

5) None of these

8. Gross Domestic Product(GDP) and
Gross National Product(GNP) are
two main indicators of
growth.Which ~ among the
following is/are true about these
two parameters?
A) GDP is always greater than GNP
B) GNP is always greater than GDP
C)GDPisalwayseither greaterthan
orequalto GNPD) GNP is always
either greaterthanorequalto GDP

1) Only A 2)OnlyB

3) Only A&C 4) Only B&D

5) None is true ¢

9. Who among the following is
named as Laureus Best Sports man
of the year 20117
1)Lionel Messi 2) Ussain Bolt
3) Novak Djokovic
4) Sachin Tendulkar
5)None of them

10. September 15 is celebrated as
International Day of Engineers in
India. The day is held in
remembrance of

(1) TKrishnamurthy

(2) M Visvesvarayya

(3) VRajaramanna

(4) R Ramaswamy

(5) None of these

11. Anil Kakodkar committee who
recently submitted theirreportwas
conductng their study on

(1) Atomicsafety

2) Women Safety

3)Railway Safety

4) Child safety

2) Singer
4) Cricketer

5) None of these

12. Which among the following is the
capital of Mizoram?

(1) Kohima 2) Aizwal

3) Imphal 4) Gangtok

5) None of these

13. What doeas ‘T’ stands for in the
abbreviation ‘NCTC'?

(1) Thermal Energy

(2) Theology 3) Terrorism

4) Train 5) Traveller

14. Kamla Prasad Bissessar who visited
India recently is the

(1) Prime Minister of Malaysia

2) President of Malaysia

3) President of Trinidad and Tobago

4) Prime Minister of Trinidad and
Tobago

5) None of these

15. International Women's day is

celebrated on

1) March 8 2) April 8
3) March 12 4)March 21
5) April 10

16. The second nuclear submarine’ of
India which is headed for a launch
by the end of this year is

1) INS Virat 2) INS Arihant

3) INS Vikramaditya

4) INS Aridaman

5) None of these

17. Which among the following is the
first Indian bank to open a branch
in Saudi Arabia?

1) SBI

2) Bank of Baroda

3) Punjab National Bank

4) Axis Bank

5) None of these

18. Which of the following countries is
the host of the 2014 Winter
Olympics, officially known as the
XXII'Olympic Winter Games ?

(1) Australia (2) Germany
(3) US (4) Norway
(5) Russia




19. 17th South Asian Association for

Regional Co-operation(SAARC)
summit was held at _

(1) Maldives 2) Nepal

3) Bhutan 4) Afganistan

5) Bangladesh

20. Whch of the following schemes is
launched to make cities free from
slums?

1) NREGA

2) Rajiv Awas Yojana

3) Indira Awas Yojana

4) Bharat Nirman

5) None of these

21. As per census 2011,which among
the following states iin India has
the least population?

1) Uttar Pradesh &) Mizoram
3) Chandigarh 4) Goa
5) Putucheri

22. Which among the following places
is known as the ‘Pink City’ in India?

1) Hyderabad 2) Seeunderabad
3) Mysore 4) Agra
5)Jaipur

23. World' cheapest computer tablet
developed in India,under the aid of
Ministrry of Human Resource
Developmentisnamedas__

1) Adarsh 2) Akash
3) Asha 4) Aadhar
5) None of these

24. Ellen Johnson Sirleaf who was in
news recently when she got the
Nobel Prize for Peacein2011,is the
president of

1) Nigeria

2) Liberia

3) Trinidad & Tobago

4) South Africa

5) None of these

25. The IBSA Dialogue Forum (India,
Brazil, South Africa) is an
International Grouping of which
of the following countries?

1) India, Brazil, Srilanka, Afganisthan

2) India, Bangladesh, Srilanka,
Afganisthan

3) India, Brazil, South Africa,
Afganisthan

4) India, Brazil , Srilanka, Australia

5) None of these

26. The term ‘ace’ is associated with
which of the following sports?

1) Tennis 2) Cricket
3) Football 4) Badminton
5) None of these

27. Vijender Singh is associated with
which one of the following games?

(1) Shooting

(2) Boxing

(3) Athletics

(4) Badminton

(5) None of these

28. India had appealed to the
International Olympic Committee
to withdraw the sponsorship of
which company from the London

Olympics

(1)Dow Chemicals

(2)Vodafone

(3)General Motors

(4)Google

29. The Union Government in January
2012 decided to subscribe to
preferential equityshares issued by
which of the two public sector
banks?

(1)SBI & PNB

(2)PNB & Union Bank

(3)sBl & ULCO

(4)Bank of Baroda & Canara Bank

30.ExpandthetermFSDC, whichisused
in financial sector.

(1)Financial Security and Development
Council

(2)Financial Stability and Development
Council

(3)Fiscal Security and Development
Council

(4)Fiscal Stability and Development
Council

(5)None of these

31. With which of the following games
is Tiger Woods associated?

(1)Golf

(2)Swimming

(3)Tennis

(4)Table Tennis

(5)Badminton

32. Expand the term ALM as used in
Banking/Finance sector.

(1)Asset Liability Mismatch

(2)Asset Liability Maturity

(3)Asset Liability Management

(4)Asset Liability Manpower

(5)None of these

33. What are teaser loan rates charged

by banks?

(1)Fixed rate of interest charged by
banks

(2)Floating rate of interest charged by
banks

(3)Rate of interestintheinitial periodis
less and goes up subsequently.

(4)Rate of interestintheinitial periodis
more and it goes down
subsequently.

(5)None of these

34. Expand the term CCEA as used in
administrative circles.

(1)Cabinet Committee on External
Affairs

(2)Cabinet Committee on Economic
Affairs

(3)Cabinet Council on External Affairs

(4)Cabinet Council on Economic Affairs

(5)None of these

35. Through which of the following
sources domestic funds are raised
by companies?

(A)IPO

(B)FPO

(C)Commercial papers

(1)Only (C)

(2)All (A), (B)and (C)
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(3)Only (A)and (C)
(4)Only (A)
(5)Only (A)and (B)
36. Expand the term GS5L V.
(1)Geosynchronous Satellite Launch

Vehicle
(2)Global Satellite Launch vehicle
(3)Geosynchronous Station Launch
Vehicle
(4)Global Station Launch Vehicle
(5)None of these

37.Largestshare holder(in percentage
share holding) of a nationalized
bank is-

(1)RBI

(2)NABARD

(3)LICI

(4)Govt. of India

(5)IBA

38. NEFT means-

(1)National Electronic Funds Transfer
system

(2)Negotiated Efficient Fund Transfer
System

(3)National Efficient Fund Transfer
Solution

(4)Non Effective Fund Transfer System

(5)Negotiated Electronic Foreign
Transfer System

39. Financial inclusion means provision
of- .

(1)financial services namely, payments,
remittances, savings, loans and
insurance at affordable costto

persons not yet given the same

(2)ration at affordable cost to persons
not yet given the same

(3)house at affordable cost to persons
not yet given the same

(4)food at affordable cost to persons
not yet given the same

(5)education at affordable cost to
persons not yet given the same

40. Expand the term FRBM-

(1) Foreign Responsibility and Business
Management

(2) Fiscal Review

- Management

(3) Fiscal Responsibility and Budget
Management

(4) Financial Responsibility and Budget
Modification

(5) None of these

Directions (Q. 41- 55): Read the fol-
lowing passage carefully and answer
the questions given below it. Certain
words/phrases have been printed in
bold to help you locate them while
answering some of the questions.
King Hutamasan felt he had every-
thing in the world not only due to his
riches and his noble knights, but
because of his beautiful queen, Rani
Matsya. The rays of the sun were put
to shame with the iridescent light
that Matsya illuminated, with her
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beauty and brains. At the right hand
of the king she was known to sit and
aid him in all his judicial probes. You
could not escape her deep-set eyes
when you committed a crime as she
always knew the victim and the cul-
prit. Her generosity preceded her rep-
utation in the kingdom and her hands
were always full to give. People in the
kingdom revered her because if she
passed by, she always gave to the
compassionate and poor.

Far away from the kingly palace
lived a man named Raman with only
ends to his poverty and no means to
rectify it. Raman was wrecked with
poverty as he had lost all his land to
the landlord. His age enabled him lit-
tle towards manual labour and so
begging was the only alternative to
salvage his wife and children. Every
morning he went door to door for
some work, food or money. The kind-
ness of people always got him
enough to take home. But Raman
was a little self-centered., His world
began with him first, followed by his
family and the rest. So he would eat
and drink to his delight and return
home with whatever he found excess.
This routine followed and he never
let anyone discover his interests as he
always put on a long face when he
reached home.

One day as he was relishing the
bowl of rice he had just received from
a humble home, he heard that Rani
Matsya was to pass from the very
place he was standing. Her generosity
had reached his ears and he knew if
he pulled a long face and showed
how poor he was, she would hand
him a bag full of gold coins - enough
for the rest of his life, enough to buy
food and supplies for his family. He
thought he could keep some coins for
himself and only reveal a few to his
wife, so he can fulfil his own wishes.

He ran to the chariot of the Rani
and begged her soldiers to allow him
to speak to the queen. Listening to
the arguments outside Rani Matsya
opened the curtains of her chariot
and asked Raman what he wanted.
Raman went on his knees and praised
the queen. | have heard you are most
generous and most ¢haste, show this
beggar some charity. Rani narrowed
her brows and asked Raman what he
could give her in return, Surprised by
such a question, Raman looked at his
bowl full of rice. With spite in him he
just picked up a few grains of rice and
gave it to the queen. Rani Matsya
counted the 5 grains and looked at
his bowl full of rice and said, you shall
be given what is due to you. Saying
this, the chariot galloped away.

Raman abused her wunder his
breath. This he never thought would
happen. How could she ask him for
something in return when she hadn't

given him anything? Irked with anger

he stormed home and gave his wife

the bowl of rice. Just then he saw a

sack at the entrance. His wife said

some men had come and kept it
there. He opened it to find it full of
rice. He put his hand inside and
caught hold of a hard metal only to
discover it was a gold coin. Elated he
upturned the sack to find 5 gold coins
in exact for the five rice grains. If only
| had given my entire bowl, thought

Raman, | would have had a sack full

of gold.

41. According to the passage, which
of the following is definitely true
about Rani Matsya?

(A) She was beautiful. (B) She was
intelligent. (C) She was kind.

(1) Only A (2) Only B (3) Only C (4)
Both A and B (5) All A, B and C

42. What does the phrase 'pulled a
long face' as used in the passage
mean?

(1) Scratched his face (2) Looked very
sorrowful (3) Disguised himself (4)
Put on makeup

(5) None of the above

43. What can possibly be the moral of
the story?

(1) Do onto others as you would want
others to do to you (2) Patience is
a virtue

(3) Winning is not everything, it is the
journey that counts

(4) Change is the only constant thing
in life T

(5) Teamwork is more we and less me

44. Why was begging the only option
for Raman to get food?

(1) As Raman belonged to a family of
beggars

(2) As begging was the easiest way for
him to obtain food

(3) As Raman's family had forced him
to beg

(4) As he had lost all his property and
was too old to do manual work

(5) None of the above

45. Which of the following words can
be used to describe Raman?

(A) Deceitful (B) Selfish (C) Timid

(1) Only A (2) Only B (3) Both A and B
(4) Both B and C (5) All A, B and C

46. What did Raman find after he
returned home from his meeting
with Rani Matsya?

(1) The Rani's soldiers (2) An empty
house

(3) The five grains of rice that he had
given to Rani Matsya

(4) A sack full of rice and five gold
coins (5) None of the above

47. What emotion did Raman feel
when he saw that the Rani had
given him five gold coins?

(1) Determination (2) Regret (3)
Hatred (4) Suspicion (5) Thrill

48. What did Raman do when Rani
Matsya asked him for something
in return for her charity?

(1) He gave her five grains of rice out

of his full bow! of rice

(2) He gave her the five gold coin
that he had saved

(3) He handed over the entire bowl o
rice that he possessed

(4) He refused to give her anything a
he was offended with her reques

(5) None of the above

49. Why was Raman angry with Rar
Matsya?

(1) As she; had not stopped despit
Raman's calling out to her

(2) As she had insulted him in front o
his family

(3) As she had taken the rice grain
from him and had not given hin
anything in return

(4) Not mentioned in the passage

(5) None of the above

50. How did Raman treat his ow
family?

(1) He gave his family plenty to eat

(2) He saved whatever food ant
money he got and handed it ove
to his family

(3) He loved his family a lot an
always put their interests befor
his

(4) He beat up his wife and childrer
out of frustration

(5) None of the above

Directions (Q. 51-53): Choose the
word/group of words which i
most similar in meaning to the
word / group of words printed ir
bold as used in the passage.

51. GALLOPED

(1) hurtled (2) stumbled (3) slumberec
(4) jumped (5) ran

52. REVERED

(1) remembered (2) feared (3) talkec
about (4) embraced (5) respected

53. HAND

(1) arm (2) throw (3) give (4) limb (5,
lend

Directions (Q. 54-55): Choose the
word/group of words which i
most opposite in meaning to the
word / group of words printed ir
bold as used in the passage.

54. REVEAL

(1) stop (2) conceal (3) present (4)
pending (5) tell

55. ELATED

(1) afraid (2) poor (3) happy (4)
depressed (5) grounded

Directions (Q. 56-60): Rearrange the
following six sentences (A), (B),
(C), (D), (E) and (F) in the proper
sequence to form a meaningful
paragraph; then answer the ques-
tions given below them.

(A) Because of the black and white
rats the branch would fall on the
ground very soon and the man
woke up with a start only to
realise that it was a dream.

(B) On climbing, he looked down and
saw that the lion was still there
waiting for him.

(C) Once a man dreamt that a lion
was chasing him.
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(D) One rat was black and the other
one was white.

(E) The man then looked to his side
where the branch he was sitting
on was attached to the tree and
saw that two rats were circling
around and eating the branch.

(F) The man ran to a tree, climbed on
to it and sat on a branch.

56. Which of the following should be

the THIRD sentence after
rearrangement?

(1) A (2) B (3) C (4) D (5)E

£7 Which of the following should be
the FOURTH sentence after
rearrangement?

(1)B (2)C(3) D (4) E (5)F
' 8. \Which of the following should be
the SECOND sentence after
rearrangement?
(1) A (2) B (3) C (4) D (S)F
9. Which of the following should be
the LAST (SIXTH) sentence after
rearrangement?
(1) A (2) B (3) D (4) E (5)F
60. Which of the following should be
the FIRST sentence after
| rearrangement?
(1) A (2) B (3) C(4) D (5)E
Directions (Q. 61-65): Which of the
phrases (1), (2), (3) and (4) given
below each sentence should
replace the phrase printed in bold
in the sentence to make it gram-
matically correct? If the sentence
is correct as it is given and "No cor-
rection is required’, mark (5) as
the answer.
In order to forget his worries
Rahul take to smoke day and
night.
(1) took to smoke (2) taking to smok-
ing (3) take to smoking
(4) took to smoking (5) No correction
required
62. Prerna was very please with the
gift she had received from her
best friend on her birthday.
(1) was very pleased (2) was very
pleasing (3) is very pleased
(4) is very pleasing (5) No correction
required
63. She was so scared on seeing the
lion that she shooked like a leaf.
(1) shaked like a leaf (2) shook like a
leaf (3) shook like a leaves
(4) shake like a leaf (5) No correction
required
64. Meena had the presence of
mind to get out of the way as the
bus speed out of control past her.
(1) present of mind (2) present mind
(3) presence in mind
(4) presence to mind (5) No correction
required
65. Finally Suhas had gather the
courage to speak against his
fathers atrocities.
(1) gathering the courage (2) gathers
courage (3) gathered the courage
(4) gather the couraged (5) No correc-
tion required

61.

Directions (Q. 66-70): In each ques-
tion below, a sentence with four
words printed in bold type is given.
These are numbered as (1), (2), (3)
and (4). One of these four words
printed in bold may be either wrong-
ly spelt or inappropriate in the con-
text of the sentence. Find out the
word which is wrongly spelt or inap-
propriate, if any. The number of that
word is your answer. If all the words
printed in bold are correctly spelt and
also appropriate in the context of the
sentence, mark (5) ie, 'All correct' as
your answer.

66. The designer will show cash her
(1)
collection at an upcoming fashion
(2) (3) (4)
event in the city. All correct
(5)
67. Our mind is like a garden which
(1)
can either be intelligently cultivated
(2) (3)
or be allowed to run wild.
(4)
All correct
(5)
68. Researchers have identified the
(1) (2)
early master cells that make up the
human heart could be used to make
patches to fix damaged hearts.
(3) (4)
All correct
(5)
69. The girl spends every knight
(1) (2)
studying, as she wants 1o graduate
(3)
from a well known college with good
(4)
marks. All correct
(5)
70. The next time your gym instructor
(1)
tells you to do some stretching
(2)
exercises before starting the
(3)
workout, say no. All correct
(4) (5)
Directions (Q. 71-80): In the follow-
ing passage there are blanks, each of
which has been numbered. These
numbers are printed below the pas-
sage and against each, five words are
suggested, one of which fits the blank
appropriately. Find out the appropri-
ate word in each case.
There was a man who had four sons.
He (71) his sons to learn not to judge
things too quickly. So he sent them
each on a (72), in turn, to go and look
tree that was a great dis-
tance away. The first son went in the
winter, the second in the spring, the
third in summer, and the youngest
<on in autumn. When they had all
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gone and come back, he (73) them
together to (74) what they had seen.
The first son said that the tree was
ugly, bent, and twisted. The second
son said, "No ! It was covered with
green buds and full of promise.” The
third son disagreed; he said it was
laden with biossoms that (75) so
sweet and looked so beautiful, it was
the most graceful thing he had (76)
een. The last son disagreed with all
of them; he said it was ripe and
drooping with fruit, full of life and
fulfillment. The man then (77) to his
sons that they all were right, because
they had each seen but only one (78)
in the tree's life. He told them that
you (79) judge a tree, or a person, by
only one season and that the (80) of
who they are and the pleasure, joy
and love that comes from that life can
only be measured at the end, when
all the seasons are over.

71. (1) created (2) wanted
(3) placed (4) meant
(5)teach

72. (1) quest (2) airplane
(3) expedition (4) pilgrimage
(5) requested

73. (1) followed  (2) tied

(3) called (4) said

(5) bound

74. (1) all (2) predict
(3) maintain (4) describe
(5) talk

75. (1) was (2) fell

(3) colour (4) smelled
(5) cooked

76. (1) worriedly  (2) mostly
(3) ever (4) forever
(5) forcefully

77. (1) tell (2) leaked
(3) reprimanded  (4) stood
(5) explained

78. (1) flower (2) season
(3) ground (4) more (5) leaf
79. (1) let (2) not

(3) must (4) should
(5) cannot

80. (1) essence (2) danger -
(3) tree (4) fear

(5) journey

QUANTITATIVE APTITUDE

Directions (Q. 81-95): What will
come in place of question mark (7) in
the following questions?

81. 182 +V? = 350

(1) 576 (2) 676 (3) 26
(4) 28 (5) None of these
82. 1530:34x360+24 =7
(1) 625 (2) 765 (3) 575
(4) 645 (5) None of these
83 4966 + 285-1236 +? = 4860
(1) 854 (2) 848 (3) 825
(4) 875 (5) None of these

. 17x4418%x3  =?

V441x5 + 139

(1) 1/4 2)12 (3) 23
(4) 1/3 (5) None of these
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85. 2820+12x8 =7

(1) 1680 (2) 1880 (3) 1860
(4) 1660 (5) None of these
86. 1950:26+25 =7

(1) 12 (2) 8 (3) 5

(4) 3 (5) None of these

87. 18% of 450-75% of 96 =?

(1) 15 (2) 22 (3) 12
(4) 16 (5) None of these
88. 75.75-48.32+146.92 =7

(1) 174.35 (2) 175.34

(3) 173.45 (4) 173.35

(5) None of these

89. 8 1/3x4 2/5+? = 44 2/5

(1) 7 11/15 (2) 7 4/15

(3) 7 8/15 (4) 8 7/15

(5) None of these

90. 27.28+:2.2+4.7x1.5 =2

(1) 18.85 (2) 19.25 (3) 18.75
(4) 19.45 (5) None of these

91. 5/9 of 315+3/7 of 455 =7

(1) 370 (2) 380 (3) 360
(4) 340 (5) None of these
92. 145% of 780+7% of 250 = 1231

(1) 25 (2) 30 (3) 40
(4) 45 (5) None of these
93. 5/8 of 2/3 of 3/5 of 2104 =?

(1) 532 (2) 536 (3) 526
(4) 528 (5) None of these
94. 16.45x5.2x2.5 =?

(1) 213.45 (2) 218.45

(3) 213.85 (4) 218.25

(5) None of these

95. 2.25% of 640-1.5% of 480 =?

(1) 6.4 (2)5.6 (3)4.8
4) 7.2 (5) None of these
Directions (Q. 96-100): What will
come in place of question mark (?) in
the following number series?

96. 1112 26 812

(1) 324 (2) 328 (3) 320
(4) 280 (5) None of these
97. 5120 1280 320 80?

(1) 16 (2) 24 (3) 30
(4) 40 (5) None of these
98.7 11 27 63?

(1) 96 (2) 118 (3) 99
(4) 127 (5) None of these
99.6 10 18 34?

(1) 62 264 (3) 66
(4) 50 | (5) None of these
100. 5 11 23 47?

(1) 95 (2) 93 (3) 96
(4) 97 (5) None of these

101. A, B, C, D and E are five consecu-
tive even numbers. Average of A
and £ is 46. What is the largest

number?
(1152 (2) 42 (3) 50
(4) 48 (5) None of these

102. A train running at the speed of
66 km/h crosses a signal pole in 18
s. What is the length of the train?

(1) 330 m (2) 300 m

(3) 360 m (4) 320 m

(5) None of these

103. Find the average of the follow-
ing set of numbers.

155, 128, 137, 140, 160, 132

(1) 148 (2) 140 (3) 146

(4) 144 (5) None of these

104. Number obtained by interchang-

Ing the digits of a two digit num-
ber is less than the original num-
ber by 18, and the sum of the dig-
Its is 6. What is original two digit

number? |
(1) 46 (2) 24 (3) 42
(4) 64 (5) None of these

105. An amount of Rs 45000 becomes
Rs 77400 on simple interest in 8 yr.
What is the rate of interest per-
cent per annum?

(1)9 (2) 11 (3) 8

(4) 10.5 (5) None of these

106. Three-fifth of a number is more
than its 40% by 85. What is 60%
of that number?

(1) 245 (2) 255 (3) 260

(4) 250 (5) None of these

107. Rajesh spends 12% of his month-
ly income on entertainment, 18%
of his monthly income on chil-
dren's education, 50% of his
monthly income on other house-
hold items and the remaining
amount of Rs 5200 he saves. What
is his monthly income?

(1) Rs 25400 (2) Rs 26200

(3) Rs 24800 (4) Rs 25600

(5) None of these

108. 24 men can complete a piece of
work in 15 days. In how many
days will 18 men complete that

work?
(1) 16 days (2) 20 days
(3) 22 days (4) 25 days

(5) None of these

109. Rasika and Nikita invested
amounts of Rs 40000 and Rs 75000
respectively. At the end of 5 yr
they got a total dividend of Rs
46000. What is Rasika's share in
the dividend?

(1) Rs 16500

(3) Rs 15000

(5) None of these

110. Present ages of Rama and Shyam
are in the ratio of 4: 5 respective-
ly. 5 yr hence the ratio of their
ages become 5: 6 respectively.
What is Rama's present age?

(1) 25 yr (2) 22 yr

(3) 20 yr (4) 30 yr

(5) None of these

111. What is the compound interest
accrued on an amount of Rs

(2) Rs 15500
(4) Rs 16000

25000 in 2 yr @ 12% per annum?
(1) Rs 6630 (2) Rs 6360
(3) Rs 6260 (4) Rs 6460

(5) None of these

112. Cost of 10 calculators and 12
watches is Rs 11100. What is the
cost of 30 calculators and 36
watches?

(1) Rs 33600

(3) Rs'32600

(4) Cannot be determined

(5) None of the above

113. A TV set when sold for Rs 16756,
the profit earned is 18%. What is
the cost price of the TV set?

(1) Rs 14200 (2) Rs 14400

(3) Rs 15200 (4) Rs 14800

(2) Rs 33650

o m—
&

(5) None of these
114. Five eighth of a number is equal
to 60% of another number. What

is‘the ratio between the first num-

ber and the second number
respectively?
(1) 13: 12
(3) 25: 24
(5) None of these
115. If the fractions 4/9, 2/7, 3/8, 6/13
and 5/11 are arranged in descend-
ing order, which one will be sec-

(2) 12: 13
(4) 24: 25

ond?
(1) 4/9 (2) 2/9 (3) 3/8
(4) 6/13 (5) 5/11

Directions (Q. 116-120): Study the
following table carefully to answer
these questions.

Number of employees in different
departments of five organizations

Organisation A B C D E

Department

HR 145 80 120 180 160
Finance 120 75 100 220 140
Marketing 150 90 115 200 190
IT 225 110 160 280 220
Administration 180 120 130 110 130

116. What is the average number of
employees working in Marketing
department of all the organisa-

tions?
(1) 149 (2) 145 (3) 146
(4) 148 (5) None of these

117. What is the total number of
employees working in all the
departments of organisation B

together?
(1) 350 (2) 375 (3) 425
(4) 475 (5) None of these

118. What is the ratio between num-
ber of employees from Finance
and Marketing departments'
together of organisation B and
these two departments together
of organisation D respectively?

(1) 14: 9 (2) 9: 14

(3) 11: 28 (4) 28: 11

(5) None of these

119. What is the ratio between the
total number of employees from
all organisations together in HR
and Administration departments
respectively?

(1) 132: 137

(3) 122: 137

(5) None of these

120. Number of employees in IT
department of organisation C is
what percent of the total number
of employees in organisation C in
all the departments together?

(1) 26.5 (2) 256 (3) 25.4

(4) 26.4 (5) None of these

REASONING ABILITY

121. How many such pairs of letters
are there in the word BRIGHTEN
each of which has as many letters
between them in the word as in
the English alphabet?

(2) 137: 132
(4) 137: 122
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(1) None (2) One

(3) Two (4) Three

(5) More than three

122. In a certain code FIGHT is written
as '39%@4' and TEARS is written
as '458©*'. How is STAGE written
in that code?

(1) *4835

(3) *84%5

(5) None of these

123. Among A, B, C, D and E each
reaching school at a different
time, C reaches before D and A
and only after B. E is not the last
to reach school. Who among
them reached school last?

(1)D (2) A

(3) C

(4) Data inadequate

(5) None of these

124. What should come next in the
number series?

1836 54729 18 36 54 72 18 36 54 7
18 36 54

(1) 1 (2) 2 (3) 4

(4) 8 (5) None of these

125. Four of the following five are
alike in a certain way and so form
a group. Which is the one that
does not belong to that group?

(1) Jug (2) Cup

(3) Mug (4) Pitcher

(5) Container

126. Four of the following five are
alike in a certain way and so form
a group. Which is the one that
does not belong to that group?

(2) *48%5
(4) *48@5

(1) 93 (2) 57 (3) 69
(4) 65 (5) 87
127. If '+' means'= ', 'x' means '-' '+’

means 'x' and ‘-' means '+', then

6x8+4-6+3 =?

(1) 130 (2014  (3)22

(4) 18 (5) None of these

128. How many meaningful English
words can be made with the let-
ters ERDU using each letter only
once in each word?

(1) None (2) One (3) Two

(4) Three

(5) More than three

129. In a column of 20 boys, D is four-
teenth from the front and F is
ninth from the back. How many
boys are there between D and F?

(1) 2 (2) 3 (3) 4

(4) Data inadequate

(5) None of these

130. In a certain code BROADEN is
written as NQABOFE. How Is
DESKTOP written in that code?

(1) RDCLQPU (2) TFELQPU

(3) RDCJQPU (4) EFTLONS

(5) None of these

131. How many such pairs of digits
are there in the number 27651489
each of which has as many digits
between them in the number as
when the digits are arranged in
descending order within the num-
ber?

(1) None (2) Three

(3) Two (4) One

(5) More than three

Directions (Q. 132-137): Study the
following information carefully
and answer the questions given
below.

M, P D, Q, T R, Band W are sitting
around a circle facing at the cen-
tre. D is second to the left of M
who is third to the right of P. W is
third to the right of Q who is sec-
ond to the left of B. R is third to
the right of T.

132. Who is third to the left of M?

(1) D (2) W

(3) P

(4) Data inadequate

(5) None of these

133. Which of the following pairs rep-
resents the immediate neighbours
of R?

(1) BM

(3) WM

(5) None of these

134. Who is fourth to the right of W?

()T (2) M

(3) Q (4)D

(5) Data inadequate

135. Who is second to the right of M?

(1) B (2) W

(3) P (4) R

(5) Data inadequate

136. Who is second to the right of P?

()T (2) B

(3) W

(4) Data inadequate

(5) None of these

137. In which of the following pairs is
the first person sitting to the
immediate right of the second

(2) QW
(4) BT

person?
(1) PD (2) wp
(3) BW (4RQ (5 MQ

Directions (Q. 138-143): Study the
following arrangement carefully
and answer the questions given
below.

R@Ff31#MDUP4A4HOT8WN
YAQSEBIBIWNY 27

138. Four of the following five are
alike in a certain way based on
their positions in the above
arrangement and so form a
group. Which is the one that does
not belong to that group?

(1) M D1 (2)4HP

(3)8WT () Q5A(5) )% %

139. How many such symbols are
there in the above arrangement,
each of which is immediately pre-
ceded by a number and immedi-
ately followed by a letter?

(1) None

(2) One

(3) Two

(4) Three

(5) More than three

140. If all the numbers are dropped
from the above arrangement,
which of the following will be the
eleventh from the left end?

(1)P
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141. What should come next in the
following series based on the
above arrangement?

(3)N
(5) None of these

F31DP4TWN
(1) 5B | (2)QEI (3)QEB
(4) Q5B (5) None of these
142. How many such numbers are
there in the above arrangement,
each of which is immediately pre-
ceded by a consonant and also
immediately followed by a conso-
nant?
(1) None
(2) One
(3) Two
(4) Three
(5) More than three
143. Which of the following is the
eighth to the right of the seven-
teenth from the right end of the
above arrangement?
(1) E
(2) D
(3) #
(4) |
(5) None of these
Directions (Q.144-149): in each of
the questions below are given three
statements followed by three conclu-
sions numbered | Il and lll. You have
to take the given statements to be
true even if they seem to be at vari-
ance from commonly known facts.
Read all the conclusions and then
decide which of the given conclusions
logically follows from the given state-
ments disregarding commonly known
facts.
144. Statements:
All telephones are wires.
All wires are tents.
All tents are cans.
Conclusions:
|. Some cans are wires.
Il. Some tents are telephones.
Ill. Some cans are telephones.
(1) | and Il follow (2) Il and Il follow
(3) | and Il follow
(4) All I, I and 11l follow
(5) None of the above
145. Statements:
Some cards are pictures.
All pictures are paints.
Some paints are nails.
Conclusions:
|. Some paints are cards.
Il. Some nails are cards.
Ill. Some nails are pictures.
(1) None follows (2) Only | follows (3)
Only Il follows
(4) Only Il follows (5) | and |l follow
146. Statements:
All walls are glasses.
No glass is table.
Some tables are windows.
Conclusions:
|. Some windows are walls.
Il. Some tables are walls.
IIl. Some windows are glasses.
(1) None follows (2) Only | follows (3)




A

Only Il follows
(4) Only Il follows (5) | and Il follow
147. Statements:
All baskets are poles.
Some poles are lamps.
All lamps are roads.
Conclusions:
|. Some lamps are baskets.
Il. Some roads are poles.
lll. Some lamps are poles.
(1) Iand Il follow (2) | and 11l follow (3)
Il and Il follow
(4) All I, Il and Il follow (5) None of
the above
148. Statements:
Some leaves are baskets.
Some baskets are flowers.
Some flowers are lakes.
Conclusions:
l. Some lakes are baskets.
Il. Some flowers are lakes.
lll. No lake is basket.
(1) Only | follows (2) Only Il follows (3)
Only Il follows
(4) Either | or Ill follows (5) None of
the above
149. Statements:
All pictures are bands.
Some bands are chairs.
Some chairs-are tables.
Conclusions:
I. Some tables are bands.
Il. Some chairs are pictures.
lll. Some tables are .pictures.
(1) None follows (2) Only | follows (3)
Only Il follows
(4) | and Il follow (5) Only Il follows
Directions (Q.150-155): in the fol-
lowing questions, the symbols @, £, *,
$ and % are used with the following
meaning as illustrated below.
P £ Q' means T is not smaller than Q'.
P* Q' means 'P is not greater than Q'.
P % Q' means 'P is neither greater
than nor equal to Q'.
‘P $ Q' means 'P is neither smaller
than nor equal to Q'.
'P @ Q' means 'P is neither greater
than nor smaller than Q'.
Now in each of the following ques-
tions assuming the given statements
to be true, find which of the three
conclusions |, Il and Il given below
them is/are definitely true and give
your answer accordingly.
150.
Statements: B % N NfFF*H
Conclusions: LHSNH.F%BINLB % H
(1) I and Il are true
(2) | and Il are true
(3) Il and Il are true
(4) None is true
(5) All 1, Il and Il are true
151. Statements: WEFF% K, K$ M
Conclusions: LM % FILMEFIL. W $ K
(1) Only lis true  (2) Only Il is true
(3) Either | or Il is true
(4) Only Il is true
(5) None of the above

152. Statements: W$B,B@M M*R -

Conclusions: L.RSBI.R@B L. M
% W

(1) Either | or Il is true

(2) Either | or Il and Il are true

(3) Il is true

(4) All 1, I and 1l are true

(5) None of the above

153. Statements: M*D, DK, K@T

Conclusions: L. T% DIl. K % M. M
% T

(1) Only | is true

2) Only Il is true
(3) Only Il is true

(4) | and lll are true (5) None of the

above

154. Statements: K@FFSM, MET

Cn;nclusiuns: LT%FHIM%KIHN K

T

(1) I and Il are true

(2) | and lll are true

(3) Only Il and Il are true

(4) All I, Il andll are true

(5) None of the above

155. Statements: N * A, A %B,B £ D

Conclusions: 1. D%A II. B $ N .
N%D

(1) None is true

(3) Only Il is true

(4) Only Il is true (5) | and |l are true

Directions (Q. 156 -160): In each of
the questions given below which
one of the five answer figures
should come after the problem fig-
ures, if the sequence were contin-
ued?

156.

(2) Only | is true

Problem Figures
FBU—*“I'—'BE L-ﬂtmi-mn-ﬂir—hﬂnb-J
Answer Figures
[m:ru'[::mn"r-_nlrr:r n:rT}m:: '!'l:r]
{1k (2) (3) 4] (=)
W87
- = I W T F
qi o8 —F
& ____QIg £Ic e c
Answer Figures
r:l F b4 d'i? +{ 3 Fi
A VS VR A |
L.- =0, "—'j:__._ ale *;L e
(1) {2} (3) () 1 5]
158.
Problem Figures
I 1
SHOUT|IUTOPG Gumpiupwx KCPTB|
Answer Figures
BTYPFA|IBKOPT| FAPBT|TBPFA TBFCPH|
(1) {2) {3) (4} (5]
159 Problem Figures
W oo ] gj= &0 =
$ O =% o oo * 0 Z oo 5 2
] e =l= Ald H O 4
Answer Figures
E al= ala Ao z q
za:zn:n::'cuaFu=4
A = oo Zio =0 X!
1} (2) (3) i4) {5)

" (3) a path
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161. Which encoding type always has
a non-zero average amplitude?

(1) uni-polar (2) multi-polar

(3) bi-polar

(4) All of the above

(5) None of these

162. Light Source is used in com-
munication media? -

(1)OFC (2) Coaxial Cable

(3) STP (4) UTP

(5) Nonhe of these

163. Error during data transmission is

high in communication.
(1) WAN (2) MAN
(3) LAN

(4) All of the above

(5) None of these

164. The optical links between any
two SONET devices is called

(1) a section (2) a line

(4) a portion

(5) None of these

165. The extention of database file is

given by
(1) dbf (2) frm  (3)Ndx
(4) scr (5)Gif

166. IBM stands for

(1) International Business Machine

(2) Interconnected Business Machine

(3) Internal Business machine

(4) Interacting Business Machine

(5) None of these

167. Most computers understand pro-
gram written in___ language.

(1) low level (2) high level

(3) middle level

(4) None of the above

(5) primary level

168. The server on the internet is also
known as-

(1) Repeater

(3) Gateway

(5) None of these

169. A user can get files from another
computer on the Internet by

(2) Host
(4) AND Gate

using
(1) FTP (2) HTTP |
(3)UTP (4) Both (1) and (2

(5) None of these

170. VRML code is based on

(I) BCD (2) ASCII

(3) Unicode (4) Both (1) and (2)
(5) None of these

171. High level languages are

(1) Operator oriented

(2) operations oriented

(3) precedence oriented

(4) All of the above
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(5) None of these
172. For multiple branching in "C" we

use statement.
(1) Switch (2) Go to
3) Cout (4) Case (5) Cin

173. The key fields which are tested
by a packet filtering firewall are

(1) source IP address

(2) TCP/UDP source port

(3) Destination IP address

(4) All of the above

(5) None of these

174. Use net discussion groups have
their own system of organization
to help you find things just as

(1) Internet Excel (2) Archie

(3) Gopher (4) Both (1) and (2)

(5) None of these

175. Web site is a collection of-

(1) HTML documents

(2) Graphic files

(3) Audio and video files

(4) All of the above

(5) None of these

176. Which of the following protocols
is used for WWWwW?

(1) ftp (2) http

(3)W3C (4) http www

(5) None of these

177. The 1st network that initial
Internet was___

(1) ARPANET (2)NSF net

(3) Vnet (4) Inet

(5) None of these

178. The server on the Internet is a

known as -
(1) Repeater (2) Host
(3) Gatewa (4) Initiator

(5) None of these

179. In MODEMS

(1) Several digital signals are multi-
plied

(2) A digital signal changes some
characteristic of a carrier wave.

(3) Digital signal is amplified

(4) Both (I) and (2)

(5) None of these

180. In reality, IP recognizes only

(1) a postal mail address

(2) a location of host

(3) Hub

(4) Both (1) and (2)

(5) None of these

181. 'Dichotomous questions’ in mar-
ket research means

(1) detailed answers

(2) only yes-no

(3) only two responses

(4) Both (1) and (2)

(5) None of these |

182. The 7 O's framework is very use-
ful in the study of

(1) Price bahaviour

(2) Sales management

(3) Consumer bahaviour

(4) Demand pattern

(5) None of these

183. In response hierarchy model,
cognitive stage deals with

(1) developing an interest

(2) creation of knowledge

(3) Both (1) and (2)
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(4) Neither (1) nor (2)

(5) None of these

184. In India, most advertisements are
categorised by many as

(1) deceptive (2) entertaining

(3) good source of information

(4) Both (1) and (2)

(5) None of these

185. In marketing 'zero level' channel
implies

(1) Manufacturer selling to the retailer

(2) Manufacturer selling to the direct
consumer

(3) Retailer selling to the consumer

(4) Retailer selling through the sales-
man

(5) None of these

186. Which among the following is a
n- durable goods?

(1) Soap (2) Maturity

(3) Colour T.V. (4) Clothes

(5) None of these

187. According to the product life
cycle theory, the profits are on
peak in the

(1) Introductory state

(2) Maturity

(3) Growth

(5) None of these

188. Which among the following
is/are advantages of packaging?

(1) It helps increase sales

(2) It adds to the use of a product

(3) It helps in storage

(4) All of the above

(5) None of these

189. Administered prices are prices
fixed by the government normal-
ly on the basis of -

(1) Cost (2) Margin of profit

(3) Cost plus a stipulated margin. of
profit

(4) Market forces.

(5) None of these

190. The people and organisations
who assist the flow of products
and information to marketing
channels are called -

(1) Merchants (2) Dealers

(3) Both [1) and (2)

(4) Facilitating agents

(5) None of these

191. Which among the following is

‘not an example of Direct

Marketing?

(1) Tele-marketing

(2) Sales on Internet

(3) Mail order sales

(4) Retail stores

(5) None of these

192. In India advertising for
allowed on T.V.

(1) liquor (2) cigarette

(3) Both (1) and (2)

(4) Neither (1) nor (2)

(5) None of these

193. Which among the following
advertising media has the maxi-
mum reach?

()T.V.

(3) Outdoor

(5) None of these

(4) Decline

_Is not

(2) Radio
(4) Magazines

194. Which among the following is
not a medium for advertise-

ments?
(DT.V. (2) Hoarding
(3) Direct Mail (4) Pamphlets

(5) None of these

195. Price pack deals are also called-

(1) value packs (2) price tags

(3) price offer (4) price control

5) None of these

196. In a "Soft sell' strategy, which is
not true?

(1) Concern for self

(2) Concern for customer

(3) Listening

(4) Presenting benefits

(5) None of these

197. An intelligent salesman views
objections -

(1) positively

(3) frustrated

(4) All of the above

(5) None of these

198. In 1991 the Government of India
adopted the policy of -

(1) Liberalisation (2) Privatisation

(3) Globalisation

(4) All of the above

(5) None of these

199. In E-commerce C2C means

(1) Consumer-to-Cash

(2) Consumer-to-Consumer

(3) Consumer-to-Business

(4) All of the above

(5) None of these

200. Which of the following is not a
'‘Post testing' Technique of adver-
tisement?

(1) Sales test

(3) Enquiry test

(5) None of these

(2) negatively

(2) Focus group
(4) Attitude test
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161. (3) bipolar :

162.(1)

163. (1)

164. (1) asection

165. (1) dbf

166. (1)InternatiunafEusinessMachine

167.(2) high level

168. (2) Host

169. (1) FTP

170. (3) Unicode

171.(3) precedence oriented

172. (1) Switch

173.(4) All of the above

174. (1) Internet Excel

175. (4) All of the above

176. (2) http

177.(1) ARPANET

178. (3) Gateway

179. (2) A digital signal changes some
characteristic of a carrier wave

180. (3) Hub

181.(3) only two responses

182. (3) Consumer bahaviour

183. (2) creation of knowledge

184. (1) deceptive

185. (2) Manufacturer selling to the
direct consumer

186. (1) Soap

187.(3) Growth

188. (4) All of the above

189.(3) Cost plus astipulated margin of
profit

190. (4) Facilitating agents

191. (4) Retail stores

192. (3) Both (1) and (2)

193. (2) Radio

194. (4) Pamphlets

195. (1) value packs

196. (1) Concern for self

197. (1) positively

198. (4) All of the above

199. (2) Consumer-to-Consumer

200. (4) Attitude test
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